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3-1

3-1 kg/10a
3
1993
1 462 58 453 74 238
2 599 54 588 78 300
3 545 37 542 41 96
4 527 62 494 132 475
5 594 34 594 34 63
6 402 69 377 112 354
7 511 49 500 73 283
8 430 88 398 141 429
1
3-2
1 2 3 1
1 123 15.5 19.7 63.5 1993
2 160 14.4 20.8 80.0 1993
3 145 9.9 10.9 25.6 1993
4 141 16.5 35.2 126.7 1980 1993
5 158 9.1 9.1 16.8
6 107 18.4 29.9 94.4 1980 1993
7 136 13.1 19.5 75.5 1993
8 115 23.5 37.6 1144 1980 1993
ha
1 11 ha
2)
2 (Cost-Loss Model)
C
L
= =C L
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3-3
1 2 3
1 32 25 8
2 35 24 6
3 51 46 20
4 30 14 4
5 55 55 30
6 27 17 5
7 38 26 7
8 21 13 4
4 3
D
3 3
3 10
3
2 kg/10a) 3-4
7
1993
3-4 kg/10a
300 500 510
200 530 570
2)
50 30 20

300 x 0.5+ 500 x 0.3+510 x 0.2 =402 Kkg/10a

200 x 0.5+530 x 0.3+570 x 0.2 =373 kg/10a
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3-5 kg/10a
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50 40 10 401 369
50 30 20 402 373
40 50 10 421 402
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30 60 10 441 435
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30 30 40 444 447
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20 20 60 466 488
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